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1.1 nOO0O0O00O f®

r— a0 f(x),g(z) = 000000000. f(x) =o0(g9(z)) (x - a 00000
mmwﬁgzommmmmmmmmm

()00 fO0 00000000000 fO000O00O0O0D0.O0000 fO00000
0000000 «000O0

lim f(z) = f(a), e f(z)=f(a)+o0(1) (z—a)

r—a

0000000000, f000 fO0 000000000, fOQ00000000

()OO f0 1000000ODOO0OO fOOOOODOOOOO.OO0O0O0 fOOO
OO000Db0b000 «eDODOOOOO ADODOD

@) - f@)

r—a Tr—a

, i.e. f(x)=f(a)+A(x —a)+o(x—a) (r— a)



2 1. 0000000 Taylor DO OO OGQOO

0000000000. 0000 fe)=A000.000000000000 £0 f
0000 (derivative)OOO. f/0 f0 100000000, V00000000,

()00 f0 20000000000 f000000O0000000 f£O000000
00000, f/O00O f/0 fO0 200000000, 00000000.

()00 fO0 0000000000 fOR-10000000000 n-1000
o0 f~YoOooOo0oO0oOoooo. Y ooo0o0 fO0 00000000, f™
oooooooo.

01100000000 k0000 f(#)=(@—-a"0000

FO@) =nn—1)(n—2)--(n—k+1)(x—a)* ]

gd. oooo
fO(z) = (z —a)",
FO@) = (e — o),
F(2) = nln — 1)(& — )",
fO(@) =n(n—1)(n - 2)(z —a)"?,
fOr)y=nn-1)n-2)(n—k+1)(z—a)"*
guooooooooobbbobg. ]

gb 11200000000 on00000O000boo0boO0. 00 n000bbOoOon
gbbob,gdbbobooggobobod. U]

1.2 TaylorODOOOGOQOOO

n00000000,f0«cROODDOO0OOOOOO0O0 200000000000
0000O00.00 apar,...,a, 0000 nO000 p(zx) 000000000

p(z) = ag +ai(z —a) + az(z — a)* + - + ap(z — a)™

OO0b0oo0o0oOobOoobooboob. b0 fOx=e0000 nOODO pOD0OOODOODO
ooboopboob.bobobooobD e, bO0Db0O0000OObOOobDO0obOooooo?

00 1.3 k=0,1,...,n0000

F9(a) = p¥a) = m= 1 fP(a). [



00. (z—a)'0 k00000 k<1000 I(1-1D(1-2)--(—k+1)(z—a)*00
0,k>10000000.000 p(z)=Y",az—a'0 k00000000000:

n

P (@)= all-1)(1—-2)--(I—k+1)(z—a)"

=k

D000D0 rx=¢000000(=k00000000,
P8 (a) = apk(k —1)(k—2)---1 = klay
DO00000000.00000 fMa) =pW(e D a=24fPeD00O000. [J

oooobod,n0000000 fO0OD00O nOODO pO
1

n!

p(x) = (@) + P @)~ a) + o (@) — ) -+ [ a)(x — a)"

00000,k=0,1,...,n0000 p®(a) = f®W(e) 0000D0. 00000 fO2z=a
0000000 pO00O0000000O00O000O0O0. D0O0O0O0O0D0O000O0OO
oooooooo.

2 0000 TaylorO OO

21 0000000000 TaylorOOOooogad

00 21 (0000000000 TaylorOOO) nODOOOODODODO, fOeeROO
obobboboob nOobOO0ObOO0ODLO0ODOO0ODLO0OD. 0000 2 —al

£(&) = Fla) + F(@)(w—a) + 5 (@)@ =)+ -+ [ @)= a) +of(r —a)). [

obooooboboob.og F g

Plo) = 1)~ (1@ + @) =0+ @ =+ L - )

n!
00000, FO0 00000000 F(a)=F(a)=---=F"@)=0000000
0.000000000000000000000000000000.

00 22n00000000,F0«cROODODOOOOOOOOOnO00000O00O0
0000000, Fla)=F(a)=---=F"(e)=0000000000000.0000
r—al F(z)=0((z—a)")O00O. [

Ob.nO0000000O0O0DOOO0O.
n=1000.0000 FOOOOOOOO F(e)=F(e)=0000000000,

lim @ = lim —F(m) — o)

rx—a T — Q T—a TrT — Q

= F'(a) = 0.

0000 F(zx)=o(x—a)O000.
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n=22000. n—10000000000000000000 (000000 (x)).
F
G(z) = () (x#a),Gla)=0000. 0000 GO z#ae0n—-1000000
r—a

k=1,2,....n—10000 GO z#¢ 0000 kOO0 O0OOD0OODOODODODOO
goboo:

000 «Y 00000000, k=1,2,...,n—100000000,z2=¢00 GO k
000000 GW(e)=0000000000.00000000 ()00 2—ae000
Gl@)~Gla) _ Fl@)

r—a (x —a)?

000 Gx)0D 2=¢00000000 G'le)=0000000000000. 000
k=2,...,n—100000,G@x) 0r=a00 k—-1000000 G V(@) =000
D000000. 0000000000 ()00 x—ae000

G () = G* V() F*U(z) G FE () -1y F(x)
= I S T 0.
r—a (x — a)? T (x —a)? T e (a:—a)k_>
000 G* V()0 2=a00000000 GW(@)=0000000000000. 0
00 GOn-1000000 Gla)=G"a)=---=G"V(e)=0000000000
OD000D0. 000000000 (x)0 GOO0000 G@) =o(z—-a)" ) 0000
00000. F(z) =(z—a)G(x) 000 F(z)=o((x —a)"). 0

2.2 TI'HospitalO OO
00 2.3 ("HospitalO0 O O)

1. f,gOOOO z2=¢000000 f(a)=g9g(a)=000 ¢'(a) #0000
(

2. f,g00002000000 f(a)=g(a)=f(a)=¢(a)=000 ¢"(a) #0000

3. f,¢0OOD nO0D0D0D0O0000, f,g0 2=e0000 n-100000000
OoDo0000,¢9™(e #0000

) )
o g(n) g (a)

[

O0.200000000000. (DODODOUDO300DOOODOOODODOODO,10000
Ooo0o0oO0g.) f,g000D0200000000 TaylorOCOOOO,

F() = F(@) + F(@) — a) + 51" (@)~ a)? +of(z — a)?),
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g@%=ﬁ®+d@Mx—®+%JWM$—@2+d@—aﬁ~

000 f(a)=g(a)=f'(a)=¢'(a) =000 ¢"(a) #0000 z—a 000

ol(z — a)?)
//a+2—
f@) @@ -a?to@-a®) T DT or )
1 - o 2 - " . D
r—altole—a?) . oz—a) @)
gMHﬂ7——7r
T —a)
000000000000 00000 l'Hopistal DO OD0ODOOOOO, 00000003
Taylor OO OOOOO0OO0O0OO0OOO0OOOOOO,0000O0OOoOooOOO.

00 2.4 f(z)=sin(z'), g(z) =e” —1-2° 000 lim, o« JH 0000O. 0

OO0 25 00000 'Hospital DO OO OODOOODOOODOODOODOOODO. f,gO0O
O01ooooooooooooo! U]

O00. I'Hospital 00000000 Tayloo 00 000000000000, o —al
sinz = z+o(r) 00O sin(z'?) = x10+0(x10) =2'%(1+0(1)) 000, € = 1+z+327+0(2?)
000 e —1—2°= 1204 0(2'%) =121 +0(1)) 00O0. OOOOOO 2 — 000
O (1+0(1)"->100 (140(1))"=1+0(1)000.000 z—0000

flx) 21 +0(1) ,1+0(1)
g(z)  za°(1+o0(1)) 1+o(1)

— 2. []

23 0OJOO0O0O0OO

00 2.6 (000000)e<b00000,f0000 [0,b000000000000,
000 (¢,b) 0000000000000,00 ce(e,b) 0000000000000:
, f(b) = f(a)
flo=——"—
00. g(z) = f(z) = fla) = O ) 0000, g0 [¢,b] 0000 (a,b) 0000
0000, ¢ () = f(z)- 2900 ga)=¢()=0000. 00000 ¢g0000OD0
DDDDDDDDD,DDcemﬁﬂjM)_ODDDDDDDDDDDDDDDDD
fllo=9Y@D opnpo, fOD0D00O00O0O0O0000. 00000 f(a) = £(b)
N0o000o0o0o0o0o0o0o0o0o0O0O00000.
fla)=f(h)ODODODOO. fO000000000O00OOO, 00000000000
000. fO [0,b] 000000000 M= f(a),000 m=f(3) (o, €[a,b]) 00
0. /000000000 MOOO mO f(o)=/f0)000000. M # f(a) = f(b)
00000000, (m# fle)=f0)000000000.) 0000 ac(e,b)000.
M=f(e)0 f0 [e,b)| 0000000000000 z€[e,b)0000 f(z) <M= f(a)
000.000 f0 (6,) 000000000

0= f(z) = fa) = fla)(z —a) + o(z — @),

¢>a0000000000002-a>0000,z2—a00000< f(e)0000
00000.000 2> 000000000000 2-—a<00000,<0 200
00000,z2—a000002 f(0)000000000.00000 f(a)=0. []

[
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gbobobooogbobobooogbobog.

027 (000000(00000)) fO0 «eeROODODODODODODOOOOOOOOOO
gobbobbbdudg. bbb «00oddobb «0000,e¢d 20000000
b z00000D0O0000ooO0O:

fx) = fa) + f(Z)(z - a)
¢#¢00000000 7000 «00 20000000000. 0

00.0000000000 f(o)=29229 0 fb) = fa)+ f(c)(b—a) 00D fla) =
fO)+ f(¢)(e—b)000000. OO0D0OO0OO0O0D000000 ,b00000,a<z0

U0 e,z U0, z2<e000 z,« UO0ODDDOO0O0OOOOOO0ODOO. []

24 00000 TaylorOOOOOOoOoOoOooooooond

00 28 (00000 TaylorO0OO) n 00000000, fO eeROOOOOOO
gobobo-000000000DO0O0O0000ODO. D000 eO00OO0O0DOOO 20
00«0 22000000000 20O

1
(n—1)!

1
@) @ - a)

f@) = fla) + f'(a)(z —a) + 5; f"(a)(x —a)* + - + Fa) (@ — a)"!

gboobooooobooo. L]

O0.x=¢000000000000000 z#e¢00000.0000 200000
oboboobooboooboob.obbobb0 Koobooboooboooo:

7Y (@)@ — 0!

) 1., 2
J@) =@+ [(@@=a)+ 5/ @@ =a++o—p

! K(x —a)".

n!

+

00000000 «0t000000000000000O0O00O0OD tO000O0 F(t)O
ood:

F(t) = f(x) — (f(t) + (O —1) + %f”(t)(ﬂf — 1)’

(n— 1)!f(n_1)(t)(f —" %K(x - t)n),

0000 F(z)=0000,K 00000 Fl@)=0000.000 FOOOOOOO
00000000000, 0 x 000000000 #0 F(3)=000000000
000000000, F¢) 0000000000

F(t) = - (f’(t) + (—f’(t) +f1(t)(x — t)) + (—f”(t)(x 1)+ %f”(t)(ﬂf - t)2>



+ -+ (— n _1 2)!f(”’”(t)(:c —)" 7+ o 1)!f<n> (t)(z — t)“)

1 n—1
e 1)!K(:17 —t) )

— (n) T — n—l_; T — n—l'
= O = - =

00000 FI(7) =00 K=/M(z)000000.00000000000000. []

OO0 29 000000 TaylorOOODO n=1000000000000000. 000
OO0O000 TaylorDOODOODOOOOOODOOODOO. L]

3 Uuooooooobooon

O00000000000000000000000 (Lagrange) 0000 00O Cauchy O
OOoooooooobo,b0bo0bbo0bobo0booobood TaylorOOOooooooOooo
googbobooboo. gbogbobodbogb. booboobooobboobbo
gboboboogobobooggbn.

3.1 Cauchydooonoon

00 3.1 (Cauchy D00O000) a<bOO0000, f,g0000 [0,b]000000
DDDDDDDDD.f,gDDDD(a,b)DDDDDDDDD,f’,g’DDDDODDDD
0000, g9(e)#¢()00000000.0000,00 €€(a,b) 000000000
gooao:

fb) = fla) _ (&)
g(b) —g(a) — g'(€)
00. F(t) = (g(b) — g(a))f(t) + (f(b) = f(a)g(t) 000D, F O [a,b) D000 (a,b)
Dooooooo, F'(it) = (g0) —g(a)f'(t) + (f(b) = fla))g'(t) OO Fla) = F(b) =
f(a)g(B) — f(D)g(a) DO DO. €€ (a,b), F'(€)=0000 ¢(€)=0000 gla) # g(b)
0 /(¢ =000000 f,¢000000000000000000000 ¢(€)#0
O000000DoOo. 0oooo,00000 €e(a,b)0 FI)=000000000
goooooooooooooon.
FOOODDODODOODODODO ¢€e(a,b)0 F($)=0000000000DDODODODODOOO
DDD,FDDDDDDDDDDDDDD.FD[a,b]DDDDDDDDDM:F(a),D
00 m=F(8) (o,f€la,b))000. FOOOOOOOOO MOOO mO F(a) = F(b)
D00000. M#£F(a)=F(b)00OD0DO0O0000. (m#F(e)=F(b) 0000000
00.) 0000 a€(e,b)000. M=F(a)O FO [0, 000000000000
0 z€ela,b) 0000 Fl@)SM=f(o)0OO0.000 FO (¢,b) 000000000
t—al

0S F(t) — F(a) = F'(a)(t —a) + ot — a).
t>a 000000000000 ¢t—a>0000,t—a0000 05 F(o)00O0O0O

D0000. 000 t>e000000000000 ¢t-a<00000,<0 200
00000,t—»a 000002 F(0)000000000.00000 F(a)=0. []
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00 3.2 (Cauchy 00O0O0000000O0) ¢t € [0, 0000000000 Pt) =
(f(t),¢()) 000000. 00 te(e,b) 0000000000 (f(t),¢(t) 00000
0ooo0oo. (f,¢ 0 (¢,b) 00000 0000000000000000,0000
00000 o000000)

(hmmDDDDDDDDDD:%%}ﬁgmmmmmm/hqﬂ@gm»DDDB:
(f(b),g()) 0DDODODO0OODOO0O. (g(a) £¢(b) 000000000 ABOOODO

0oooo.)

0000000000 ABOOOOOODODOOO0O0000000000000000
0000000000000.00000 C=(f(¢),9¢) (E€(a,b)00000.00
000000000000000000000 (f(¢),d(¢)0000. 00000000

goo fl(é)DDDD.

g (6)
DDDDDDDDDDDDf@_fwtfﬂaﬂﬂﬂﬂﬂ.ﬁﬂDDDDD)

g(0) —g(a)  g'(&)
0000000000000 Cawchy 1000000000000 O000O00O0O0O

OO00O0oO0oOob0. 000bo0ob0Oo CawchyOODOODOODOOODOODOODOODO
000000000000000000. (DOo0o0o0oooooooooooOOooOOOO
O0000000ooooooooooooon.) L]

CauchyUODOOOODOODOODODOOOODOODOODOD.

00 3.3 (Cauchy 0000000000 00) h£000000, f,g0 2,2 +h00
0000000000000000000000. f,¢0 2,2+h0000000000
00000000,000 f,¢ 0000 000000000, g(z)#g(x+h) 0000
0000.0000,0<6<1000000¢0000000000000.

fle+h) = f(&) _ [t 0h)
glo+h) —g(e) ~ glat0h)

[

Cauchy0OODO0ODOOO ¢(t)=t000000 (LagrangeDd )0 0000000O00OO.

00 3.4 ((Lagrange0)000000) a<b00000, fO0000 [0, 00000
0000000, f0000 (¢,b) 000000000000, 0000,00 €€ (a,b)
0000000000000:

f(b) — f(a)

o =€) e fO)=fla)+ fO0-a). [

00 3.5 (Lagrange0 ) 0000000 O0O0OO) h2000000, fO z,2+hO
O00000Db0oOo0oobooooooon, fOx,x+A 000000000000
OO000000000D0. 0000,0<é<100000D0 0O0DOODOODODOODO
gg.

flz+h) = f(x)

h
036 (0000)ae<bOOOODO, fO0D00O [0,b)0000000O0OODDOO, fO
000 (e,0) 0000000000 ff=0000000. 0000 0000 [a,b] O
gbooboogo. ]

= f(x+6h) ie f(x+h)=f(x)+hf(x+6h). [




3.2. 00OO0O0O Taylord OO 9

00. (Lagrange 0) 00000000, 000 z € (a,b) 000000 € € (a,2) O
f@)=fla)+ f(€)(z—a) 00000000000, f(=000000 f(z)=f(a)
000.000 f00000000000000OO. 0

3.2 00000 TaylorO OO

00 3.7 (00000 TaylorOOO) fO «cROODODOOOODOOnO000O000O
OO00000O0o000. 0o0Db e« 00000 2#e0000,a,20000000 ¢

(#a,2) 00000000 O0OODODO:
@) = F@)+F (@)a=a)+5 (@)@ 4o 7 @a—a) g ) a—a)”

gboobooooboo,oobbbuoogobon:

Rafw) = —fO€) @ —a)". ]
00. F(z)000D0O0O0000:

F) = o) (@) + F@l = ) + 3@l =0+t f<”—1><a><x—a>“-1).

1)!
oooag F(a):F’(a):F”(a):---:F(”*)(a)—ODDDF Nx) = fW(z) 000
0000.@x0000000 ¢ (#a2)0 Fx)=LfM(&)(z—a) O DDDDDD
Oooo0oooooo.
glx) = (z—a)*000. ¢W@) =nn—-1)n—-2)-(n—k+1)(z—a)""* (k =
0,1,2,...,n) 000 g(a) =g¢'(a) =g"(a) =--- =g V(a)=000 ¢gW(z)=n!000,
t;«éaDDD g®t)£0(k=0,1,2,...,n)000.
Cauchy 0O OO0 k£=0,1,2,...,n—10000 FP()0 ¢®W(z) 00000000
O,a,r0000000 2y,20,...,2, 00000000000000000000:
Fr)  Fz)—F(a) _ F(z)
(z—a)"  g(x)—gla)  ¢(x1)
_ F(z) = F'(a) _ F'(x2)
 g(m)—gla)  g"(x2)

CFO(g, ) — FOD(a)  FO(x,)  f0)(z,)

g V(@) =g V() gM(x,) ol
000 ¢=2,0000 F(z) =LM€ (z—a) ]

1

1!

a,x 000000 z,2+h 00000000000 OOOOODODOOOO.

00 3.8 (00000 TaylorOOOOOOOD0) fO02zeROODODODDDOOOO OO
O000000000O0ODO0O00.00DO000000ooooD Ar£00000,0<6<1
OOoodboe0bOobObOoOOOonDg:

f(x+h) = f(z) +hf(x) —1—%2]””(3;) TR nh

gobobuooooboo,gobbbuoogoboon:

Fo V() + %f(”) (z + 6h).

n

Ru(h) = " 1+ 00) 0
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3.3 U00O0OO0OO0ODOOO Taylor OO

00 3.9 (0000000000 TaylorOODO) fO eeROODODOOOOOO n—1
000000000oooog, f»Y0«0000000000000.0000 2—a
goo

£(&) = fla) + f(@)(e = a) + 5 (@) — 0+ + [ a) (e~ a)" + ol(z — a)"). []

n!

00. 00000 Taylor 0000000000 F(z) 000, g()=(x—a)"000,0
00000000000000000,e20000000 2,.,0000000000
0Dooooooooo:

(x—a) ¢ D(z,_)  nl(z,q—a) n!(z,_1 — a)

Doo0o0o000 ¢g" V@) =nn—1)---2(x—a) =nlr—a) 000, 0000000
Fol(@)y=00000. F(z)— S f™(a)(z —a)" = (@—@wDDDDD f= 0 q
0000000 ooOo, F*Y 0 00000000 F™()=f™eDOO. 000,
r—a 000 xn_1—>aDDDDD

F F=1(p ) _ pn-1) F(n) (n)
L B@)_FO(, ) - FO ) FOa) [
v—a (r —a)t  z—a n(Typ—1 — a) n! n!
goooo
_ F(x) = g f"(a)(z — a)"
lim e =0.
z—a (x —a)”
gooduououooooao. []

00 3.10 00000 Taylr 000D DOO0O00OO0 f™WO0D0D0DO000O0O0OOO0OO
OTaylor D0 0DO00000000000DO TaylrD0DO0O0O000O0O0O. 00 f™ 0O
Ooo0db0 r—el000 E—a 000

. Ry(x) — 5 f™(a)(z —a)" 1
lim (e =
z—a (x —a)” n! z—a

oooooooo nOO0O0OOODOOOO,00000DOOOOO0 CcrODDDOOOO
OO000D000 TaylorOOODODOOOOOOODOO TaylorOOOOOOOODO.
oobooooboOobooboobo.ooobO,b0000 nODODOODOODOODOO O
gboboboooobbbooooo,bbougoooboboboooobobooog. oo
OO000O000O0o0obOO0o0oboO0ob ¢crOobobO0ooo0ooooobooboooDo. [

e,z 000000 z,xo+hA00000O0OO0O0O0DOOOOOOOODOODOO.

00 3.11 (0000000000 TaylorOODO) fO0 zeROODODOOOOOOO n—1
Do000000ooooog, fY0 ,0000000000000.0000AR—0
goo

n

Fla+ ) = F2) + b)) o @) 4 o). D
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4 00000000 Taylortd OO

gbbobuoogobbbooobbboogobbboaod.

00 41 (0000) fO0 «eeROODODDOODODODODOOOODODOOOOO.O0O0OO a
gbobobo 20000

d T

& [ rod=r@. o
O0. fO000000,000e>00000006>00000000 |hs6000
|f(x+h)— f(z)]<e000.00000

z+h T z+h
/ £(6) de — / F(6) d — f(x)h / F(6)d — f(x)h

/:Mf(f) — @) df‘ = /:+h £() - f(x)|d§‘ < el

000 [*™fE)de - [T f(€)de - f(x)h=0(h) DDDDDODOD. 00000000
ooooo. 0

00 42 (0000000000) fO0eeROODDOODOOOO C'O0O0OOOOOO
g.0o0o0d 0o 20000

f(2) — fla) = / “feyde O

00. F(z) = f(z) — fa) = [Ff()d D000 F(z)=00000. 0000 F(a) =0
000,000000 F(z)=0000.00000000 @z00000 &0 F(z)=
F(z)—F(a) = F(¢§)(z—a)=000000000000. [

00 43 (0000000 TaylorOO0O) fOecROODODOODOOODO C*O0ODOO
gbobobd.odbb «0DO0O0O 20000

1

@ 0T R)

f(x) = F@) + F(@)(w— a) + 5 @)z —a)* 4+
000000 R,(x»)DOODODOOOOOODO:

(z— !
~prde O

(n

Ra) = [ 10
Od.n00000O0000O00O0O000O.n=1000
fa) = @+ [ 7€) de
gdopoooobooobooooobo. cgobboooboooboooooog
| red=-roe-o+ [ row-gd
—f@—a+ [ Q-9
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bbb n=200000000.
n00000000000000000DO. D0000000000 R(x)ODODOO
gooo

Ryfa) = |1 (5)@;—!@”} - / Fie (5)M it

n!
= L a / (e T ge
000 »+100000000000000. 0

00 44 0000000 Taylr 00000 C"00000000000000000
Taylo D0 0000000000000 O. f®WO000000,000>000000
06>00000000,E—a <6000 [fM(E)—fM(a)<eDD0. 000000

O R

£=a
gogg
Rulo) - 1@ f%)( 8 e - / O
A ST e

DDDRM@—%ﬂW@@—@":d@—@%DDDDD.DDDDDDDDDDDD
0. ]

a,x,6 000000 z,zo+h,x+6h 0000000000 0ODO0OOOODOODODOODO.

00 45 (0000000 TaylorOOOOQOOO0O) fO0 zeROODOOOOOOO
crgopoo00oOoO0.00oboo0ooogoooog r£A0000O

hnl

(n—1)
@)+ R

2
Pl h) = fla) +hf(x) + o (@) +
000000 R, (h)DOODODODOOOOOO:

Rﬁmziég%%@%¥ﬁﬂm@+HMd0[]



